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int ans, a=4, b=3;

RDEXERTULEDEE ans DEZBE RIS SU).,
(1) ans = a + a;

(2) ans = a - b;

(3) ans = b * b;

(4) ans = a / b;

(5) ans = a % b;
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int a;
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(6) a=(1-3);

(7) a = (int)4.0;

(8) a = (int)2.5;

(9) a = ((int)(2.8 * 2));

(10) a = (int)(((double)2) + ((int)2.5));
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int ans=1, a=1, b=1;
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(11) ans += (a = (b = 2));
(12) a = ans + 1;

(13) ans += ©;

(14) --ans;

(15) ans = ans++;
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int a=2, b=3;
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(1) System.out.println("2" - "1");

(2) System.out.println("2" + 1);
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(3) System.out.println("2 - 1 ="+ 2 - 1);

(4) System.out.println(1 + 2 + " =1+ 2");

(5) System.out.println((1 + 2) + " =1 + 2");
(6) System.out.println("1 + 2 =" +1 + 2);

(7) System.out.println("1 + 2 ="+ (1 + 2));
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int a = 2;
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(1) System.out.print(0.5 + 1.5);
(2) System.out.print(l.0 * 2);
(3) System.out.print(3 / 2);
(4) System.out.print(12);
(5) System.out.print(012);
(6) System.out.print(ex12);
(7) System.out.print(e.le+2);
(8) System.out.print(true);
(9) System.out.print("int");
(10) System.out.print('¥¥'); XCC TS Y] FIFRSvYa1E@FTT.
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(16) System.out.println(a != a);

(17) System.out.println((a + b) == 5);

(18) System.out.println(a < b);

(19) System.out.println((b % 2) != 0);

(20) System.out.println((a += b) == 2);
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[ int a=(int)3.7;
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[] double b=(double)4;
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import java.io.*;
class Intermediate6{
public static void main(String[] args) throws IOException{

BufferedReader br;

br = new BufferedReader(new InputStreamReader(System.in,"Shift-JIS"));

int a, b, ans;

System.out.println("2 DDEH a, b ZAVNTEHBEZFDFEI");
System.out.println("EB#a ZANLTIZSL\");

a = Integer.parselnt(br.readLine());
System.out.println("EB#H b ZANLTIESL\");
b = Integer.parselnt(br.readLine());
System.out.println("&@& "+a+"+"+b+"=2");

ans = Integer.parseIlnt(br.readlLine());
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